00000 BIOOOOOI (20170801) 2

. 00Dooooon I

s 00000000 0O0OO00O00DbO0 nOO0OD0OO0DODOOODOO0OD
0M,(R)0OOOOOO »200000000000000000000
00XeM,(R)OODOODOOOOOOO

(1.1) | X|g = \/tr('XX) =

ooooooooon

(1.2) | X |Mm = sup{|‘|)i:|}|; UGR"\{O}}

00000000000 |-|0R*"00000000000000

00 1.1. 0000000

(1) |X]m0O M,(R)DODODOOOOOO

(2) 00 X,YeM,(R)ODODOO [XY|u< | XYM OOOOOO

(3 00 XeM,(R)ODOODO00O0000000 ‘XX 000000
00 A(Z0)00000|X|y=VA

4) (1/vn)Xle = |X|m = [X]s.

(5) 00 |-|m: Mpy(R) = RODOOO

0000 |Xo|/lv| 0 »00000000000000|X|m = sup{|Xv|;v e S"~ 10

000 S '0R"00000000000 S™!'saw—|Adz|cRODDOOOONO

0000000000000 00000DLODO0O000DDD (1.2)0000OOooOoDO

DDDDDDDDDDDDDD1>DDD(Z)DDDDDDDDDDDDDD

00 A:='XX0O0O0O0000000O000000 A (j=1,...,n) 000000

O0D0O0OR"000000 [a] 0 Ae; = \je; 000000000000000000
veER" O w=uvia1+ - +v,a, 00000A0000000000

(X0, Xv) = M\vf + -+ Al £ A (v, v)

"2017 0 060 130 (20170 60 20000)
Y0000 X 0000 [X|u > 00]aX|m = |a| |X|MO00O0O0000

000000000 (L, )0 R*"O0D00000O00000 »v0 AMOOOOO0OOO
00000000000@)000000000000000000 (1.1)00000
00000 X—'PXP (PeO(n)0000000000'XX0ODO0OO0O POO
00000 [ Xle=vVM+-—-+ 2000004 0000000000000000
[-le0 |- M0 M,(R)DOODOOOOODOOOOO |- 00000000000
000000000 (5) 000000 O

m J000000D00O0O0 ODUCR™OO M,(R)DOOOOOOO
ooox O

(1.3) X:U3u=(u1,...,un) — X(u) = (z(u)) € M,,(R)

6J=1,..,n

D000 220000000 z,;()0X 000000000000000
000000 (1.3) 000 X O C>-000000000000oooooo
C>-00000000000000C>~-000 X(vw)OODOOO w; 000
0000000000000 X0+« 000000000000 9X/0u; O
gbobobobobooobooooooobob

00 1.2. 00 UcCR™O000000 C~-000 X,Y:U—M,(R)OO
gbooboobobon

P 0X ay
W) gy, XY =g, Y+ X5
(2) 9 et X = tr ()?GX)
8’[1,]‘ Guj
3) 0 w0 X ooooooo-2x-1—-x12X y-1p
8uj U

000 X0 XO0000000000
0000000000000000000 (1) 00000000 ’'=9/8u; 0000
O=(@d) =(X'X) =(X"HX' + (XX

00 3)000DU00 dO n-0DO0O0O0ODO
00 XO0oooooooooo X =(=x1,...,2,) 000000000 nO00O00O
0000000 000000000000 2

/

(det X)" = det(x], @2, ..., x,) +det(x1, @, ..., 2n) + - - + det(x1, T2, ..., x),)

000000 000000000000000000000000000
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00000000000 DO0O0000DO0O000DO0O00O0DD (2)000oooDoDo
ooooo O

00 1.3. 0000 C~-000 X(t) O 2(t) O

(1.4) PO _xow.  xt)=x

goooooooood
t
(1.5) detX(t):(deth)exp/ tr 2(7) dr
to
00000000 Xo€GL(n,R)0000000 ¢t0000 X(t) € GL(n,R)
000 30

00000120 (2)00

%det X(t) = tr (f((t) d)ét(t)) = u (X(x )

= tr(det X (¢)£2(t)) = det X (¢) tr £2(¢).

000 XO00D0O0DO X0 XX =XX=(detX)id0OOOOODO0ODOO0O000
000 (1.5) 0000 p(t) 0000 & (p(t)"" det X(t)) = 0,000 det X(t) = kp(t)
(kDOD)D00000X(to)=Xo 00 k=detXo0OOOD O

01.4.0 (14) 0000 trQ(¢) 00000000 detX(¢) 0000000
000 XoeSL(n,R) 00 X O SL(»,R) 0000000000 90

00 1.5. 0 (14) 0000 Q¢ D00000000 '"2+2 =000
0000000000Xe € O(n) (Xo€S0(n)00000 Xo00O0D0DO
00000 10000000000000000 ¢t0000 X(¢) € O(n)
0X(t) €SO(n)0O0D00O0

3GL(n,R) = {A € M, (R); det A # 0}: 000 00; the general linear group.
YSL(n,R) = {AeM,(R);det A=1}: 00O00O; the special lienar group.
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ooooooooboOoo 120 (H)oOOO

d t _
Z(X'X) =

t
X4+ X (%) = XX+ X'2'X =X(2+'2)'X = 0.

dx
dt

00000 XX O0Ooooooo
X ()X (1) = X(to) X (to) = Xo' Xo = id.

0000 ‘X(t)=X(¢)"'000 X(t)000000000000000 410000
000 XoO0O00O0 410000000 det X(t) =10 O

" 000000000000 000 I =1[b 0000000000
X:I-M,(R)DO0O00ODO C°(I,M,(R) 000000 kODOODODO
00X eC'(I,M,(R)) 00000

(1.6) X |1k o= sup {e " | X (t)|m; t €I}

ooooo
00 1.6. ||-||zx 0 C°(I,M,(R)) 00000000 DOO0O

00000 k0 o0O0O0ODOOOOO0OO0O0DOOODOOO0OOO0OCOOOODOOD
gooooooooo O

s JO0000O00000O000 OOobOoboobooobobooboboon
oooooooogooogd

00 1.7. 00 JO0O0ODO000 ¢~-000000 20 teel 00000
I0000000 C*°-000 X(t) = Xy a(t) O

dX (1)
dt

gbooboboboooooooo

(1.7) = X()Q(t), X(t)=id (d0 n0D0000D0)

0000000000000X(4),Y(#) O (1.7) 0000000000000

t

Y(i)-X() = /t (Y’(T) — XI(T)) dr = / (Y(T) — X(T))Q(T) dr

to to
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o0oooOo0ooo0ooOoooO0oo JclIOoooo teJ oo

SY — X[ sup [£2|m
J

t
k
/ e’ dr
to

sup; |2 k(t—
= 1Y = || SR k00

00000000J = [te,a), k=2sup, |Rn 000 ¢t>t 000000

1
[IY = X|lsx = §||Y—X|\M

0000 ||Y —X||l,, =0000000 JOO Y=X00000000O0OOOO
00t 000000 J' =la,t)) 0000t <to 0000k =—2sup,|RM 0000
Y=X0000000000000 J,J00000000000007I00Y =X
000000000000

0000000000 J=[t,ed cI00000 {X,}00000000

(18)  Xo(t) = id, Xj+1(t):id+/tth(T).Q(T)dT (G=0,1,2,...).

000 k=2sup, |2 0000

[Xj41(t) — X5 ()] é/t |X5(7) — Xj-1(T)Im|£2(7) |m d7

sup; [2|m
k
00000 ||Xj41 — X;llok € 4|X; — X;-1]|s. 000000 {X,} 00000
|-l 0000D000000000000000 1.600000 X € C°(J,M,) O
godoooooooooood (I.S)DDDDDDDDD X 0O

kt
X e
<X — X5 1|k :7||XJ*XJ'—1||JJ€7

X(to) = id, x@=m+[xm9mm

00D000X 000D000000000000000000 X'(t) = X(£)2(t)
(=d/dt) 0000000000000 JOODOOOODOOIU{t>t}000
000000000000 o 0000000000000000000000000
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000000(l.7) 00000000000 X(#) 0000000000000

000 X0 C*-0000000000X'(t)=X(t)R(t) 000 X000000
0000000 X O C-00000 X(H)R(t) 0 c-00000X’'(1) 0 ¢t-000
0000 X(+) 0O C*-000000000000 X(#) 0000 »0000 C™-00
000000000 O

0 1.8.00 100000 ¢*-000 ()0t € 10Xy € M,(R) D00
000000000000 C®-0 X(t) = Xyy.x,(t) O

dX (t)
dt
00000000000000000000 X,x,(t) 0 XoO t0000
0000000 ¢~-00000

(L9) — X0,  X(to) = Xo

00000000000000000 1.700000 X(¢) O Y(t) = Xipaa(t) 00
ooooo

(1.10) X (t) = XoY () = XoXy,1a(t)

0000000000000 00000 X(t)oooOoOoOoOoOoOoOoOoOoo 13000
t0000 Y Ooooooooooooo

0000000 (3)00

aw  dX
o S ay AW

0000 W()Doooo

_1dY
Y dt

yl=xov'-xylvyor'=o0.
W(t) = Wi(to) = X(to)Y (to) " = Xo

0000y O (1.10)000D0o0oU0ooDoOooD ]

00 1.9. 00 000000 C*-000000 QW0 B(¢)0t,el 00

0 XoeM,(R)OODO00IO0D000000 C>®-000 X(¢)

ax (o)
dt

0000000000000000

(1.11) = XOR) + B(t),  X(to) = Xo
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00000 17000 Y(t) := Xiua(t) 000000000
(1.12) ‘X@)::(Xb+:l B@qY*%Tyh>yxw

00000X O (1.11) 0000000 X0 (1.11) 00000000W = XY~}
0000 X=wy 000
X' =WY+WY =WY+WY2, XQ+B=WYQ+B

D00O0OW' =BY ™' 00000000 W(t) =X, 0000
t
W:X0+/ B(r)Y (1) dr
to

000 (1.12) 0000 O

00 1.10. 00 1000 UCR™ 000 IxU 0000000 C*-0
00000 2ta)dBta)da = (a,...,0,,) 000000000000
toel,aelU, XoeM,(R) 00000/ 0000000000 C®-000
X(t) = Xiy,x0,a(t) O

ax (1)
dt
0000000000000000000

(1.13) = X(1)2(t,a) + B(t,a),  X(to) = Xo

I x 1 xM,(R) x U > (tto, Xo, ) = X4y x0.0(t) € My (R)

O Ccx00000oo

0000000000000 2 &) == 2(t + to,a)0 B(t, &) = B(t + to,a) 00
000000 X(t):=X(t+t) 000000000 (1.13) O

5%9:§@§@®, X(0) = Xo, &= (to,on,...,an)

(1.14)
0000000000 @00000000 (1.14) 00 X(t) = Xiax,a 00000
Joo0o0oOo0o 1.900000000000D0D0 «0O0DO0DOOOODODOOOOOOO
000000 Z(t) O

az ~ o0
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DDDDDDDDDDZ:(?)?/Baj 00000000 I-200000000 19000

oo
z7=9% _ (AtffﬂaﬂmnagY_%Tﬁh>}Xﬂ

o 87051 8(1]'

000000000 Y@ O Y (@#)=Y#)2(ta),Y(0)=ido00D0000000
00000000 YO ((,&) 0000 C*-0000000000000 O

" 000000000000 0OO000D0000000O00000000 Y0
O0TeROOROODOOA~:T—-ROODO0O0DODO0000 §#0
0D /00000000000000000000000000000000
/() 00000000000000000000 "=d/ds000 sO000
OD000000000000000 s00000000000 +"(s)#00
000000000000000

e(s) :=~'(s n(s) = 7'(s)
©=7 ) )=

00000{e,n,b} 00 sO000 RROODO0O0OO0O0DDOOOOOOODO
0000000009 000000000000000000000000
oooo

b(s) :=e(s) x n(s)

(1.16) F(s) := (e(s),n(s),b(s)) € SO(3)

o00o0o00 sg0bO FoOoooooooooboOooo
oobooooo

k(s) == |¥"(s)| > 0, 7(s) = — <b’(s),n(s)>

ugbooooooooboaboan ’yDDDDDDDDDW]EIDDDDDDD

iF 0 —k O

1.1 — =F10N = _
(1.17) I F1, Kk 0 T
0 7 0

5000000000000 000NO0O0OoOmOn 500
)0 0000 the Frenet frame.
7’000 the curvatured O 0O the torsiond
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gooooo

00 1.11. 00000000000 R¥* 000 o Az+b0A € SO(3),
beR)OOOOOOODODOOOOO0OO0OOOOOONODOONOOOODN
Y1(s), 72(s) 00000000000000007, = Ay, +b0 A € SO(3),

beROOODOOOO
gooooobo wOOoOoo s, 7000000 /A 00000000 AESO(3)D
bERBDDDDD’VQ:A’71+bDDDDDD Fo=AF 0000000000 F”
O FAO0O00D00O0O (1.17)DDIZIDDEIIZI71D v ooOOoooooooooo
oo nwiwoooOoOoOooOoOoOooooooooooo AOFkOD0OO (1.17)
oooooooo FO (1.17)D J-'(to):idIZIDIZIDD[IDIZIDIZIDD[ID 1.800
000 F(t) = Fi(te)F(t) (=1,2)000000000000000 F; € SO(3)
0000F(t) = AFi(t) (A= Fa(to)Fi(to)™' €S0(3)) 0OD0DODOOOOOO
0000 v(s)=441(t) 000000000000000000O0 O

00 1.12 (000000000). 00 I 000000 C*-000 kx(s)O
7(s) 000000000I00 k(s)>0000000000000000
000 ~4(s) 00000000000 x07000000000000000
0000000 R 000 z— Az+b0A€S0B3),beR?) 00000
000000000 000000

000000000 1.110000000000040(s) 0 (1.17)00000000F(s)

0 (1.17) O F(so) =id 000000000R 00000000000 1500
F(s)€SO(3) 00000000 FOODOOOD e, m,b000

~v(s) :== /Sz e(o)do

o000 FO y0O0OOOODOOOkK, 700000 yOOOOOOOOOOOO 1300

= 000000000000000 OO0UCR:2000000 C®-00
0000 2(u,v)0A(u,v) 00000000000 (ug,v) €U 000000
00000 X(u,w) 000000000000000000000

(1.18) 8@% = X1, a@% = XA, X (ug,v0) = Xo

gooood
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00 1.13. 00 UCR20000000 X(u,0) 0 (1.18) 0000000
Xo€M,(R)0OODDOOOUOOODOD X0O00OO0O0OOO0O00OO
2, A0000000 XoeS0(n) 00 XeSO(n) D UDD00nnn

00000 UD0000000000 (w,v) € UO00000 (uo,vo0) O (u,v) 000
0000000000

v:[0,1] 5t = ~(t) = (a:(t),y(t)) e U, 7(0) = (uo,v0), (1) = (u,v).

000 40000000000000000 UO00000000000000000
00000000 4000000000040 C®-0000000000000
0000 X(t) := X ox(t) = X(u(t),v(t)) D0ODDO (1.18) OO

dX =~ (du dv ~
Cox (Y X(0) = X,
(dt + 7 ), (0) 0

ooooooooooooo 1300 X(l)DDDDDDDDDD(u,U}I:IDD[IDI:I
XOOoooooooooooooooooooo 1500000 O

00 1.14. 00000000000000 X: U — GL(n,R) O (1.18) O
0000000

(1.19) 2, — A, = 04— AR
oooooo
0000 (1.8) 00000 »000000 «w 000000
Xuw = Xo 2+ X2, = X(A2+ 2,), Xpuw=XuA+ XA, =X(2A+ Ay).
0020000000 XO0O0OOOOODODOOoOoOooooooooo O

00 (1.19)0 (1.18) 00000000000 ® 000000000000
oooDooo

00 1.15. 00000 U CcR®PO0DO0000 C®-000000 N(u,v),
A(u,v) 0 (1.19) 0000000000000000 (up,v) €U O Xg €
M,(R) 00ODOO (1.18) OO0DOO C®-000000 X:U — M,(R) O
X(ug,v) =X, 0000000000000

ooooooooo 90

$) 000000 the integrability conditiond O O O 0O O the compatibility condition.
90000000000000000000mMO0 B-90



11 (20170801) 00000B1IOOOODO I 00000BIOOOOO I (20170801) 12

" 00000000000 n n I
2
00 1.16 (00000000). 00000 UCR?200 100000 L1 00 no0O0O00 IO
w = a(u,v) du + S(u,v) dv -1 0 ... 0
0 1 ... 0 .
000000000 dwe=000000000000 C*-000 f0 df =w = [T D)
0000000000000000 f000000000000000C0 0 0 ... 1
00000000000 dw=(Bu—ow)duAdy 000000000 By — o =0 00000000 diag(ar,...,a,) 000000 a1, ..., a, 0000000
000000001 1-00000 &(u,v) 000000000000000 Dooooo00o0O0o
(1.20) % = ¢a, % =&p, &(uo,v0) =1 O(n,1):={A € M,(R); "AJA = J}
(1.19) SO(n,1) :={A € O(n,1); det A > 0}
0000000000000000000 (1.19) 00000000000 1.15000
0 &u,v) 0 (1200 00000000000000000 1.300 £=det¢ 000 S04 (n, 1) := {A = (aij)ij=o....n—1 € SO(n,1); aco > 0}
00000000000000 £(ue,v)=1>00000U 00 ¢>0000000 000000 70000000 C®000000 Q) O
000 f:=logé 0000D0000D0O00O0
0000000000 20000 f,¢g00000000d(f—g)=0000000 QI+ J'0=0
00U 000000 f-¢gO00D0000000000000000 O

00000000000X, € S04(n,1) 00000000 (1.13) 0000
X(t)0 SO4(n,1) 0000000D0000000000

-2 0 (1150 Z0 8X/da; 00D000D000D00000
-3 00 1.12000000000000
I-4 R?’0O0O0 U,V O

U:=R*\ {0}, V:=U\{(t0);t<0}

00000 voooooooo vuvoooooooooo
—v u
wi= (ﬁ) dut (ﬁ) dv
gooo

(1) wOOOOODDOODODOOOOOO
(2) voOooo fO0df=wl00D000O00O0O0OODOOOO
(3 VoL df=wO00D000O0DOOOD



